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(41) Let K be a field. Show that (K x K)-Mod is not equivalent to
K-Mod.

(42) Show that R- Mod 2 C- Mod (not equivalent).

(43) Let K be a field, B := M,(K), xPp := K" the set of row
vectors, gk the set of column vectors. Find f: PR Q — K
and g : Q ®x P — B, such that (K, B, P,Q, f,g) is a Morita
context. Is this a strict Morita context? Determine the center
of B and the set of twosided ideals of B.

(44) Determine the image of the maps f and ¢ in the canonical
Morita context (A, B, P,Q, f, g) for
(a) A:=27/(6) and P :=17Z/(2),
(b) A:=7Z/(4) and P:=7Z/(4)dZ/(2),
(c) A:==7Z/(6) and P:=17Z/(6) D Z/(2).
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